g 237 gol & A o] B A AA 1, m, n T T, x |
Zr09
BAR .

_/ \ I
;f/ \2‘0
! /
m
] )
/18 16,
n




2.

the- WA golt, AE A o]
F5h?

@ 7.5cm @ 6.5cm @ 5.5cm

@ 8.5cm ® 9.5cm

il



3.

th2 139 AABC °|A AC, BC 9] 54

a+b 9 327

® 10

= 747+ M, Nojgtal
A
/
/
5
\ \ ~
N \
@ 16 ® 18



4.

thS 7132 AABC A E, F = AB 2] 3 SEHo|1, AD =
olth. EP = 6em & f, PC ] Aol 75}

A

@D 6cm @ 9cm ® 12cm @ 15cm ® 18cm



5.




Q



® A4t

B

® Az

@ ul=n



8. Th3 1199 474elA BD & aABC | F4l0|1, BP = PD |tk
APDC €] 0|7} 3 < |, AABC ] Ho|E Fslofat.

A




@D 3cm

@ 4cm

3 5cm

os)

@ 6cm

B Sem

Q



10. o2 1" H GE A2+ ABC 9] FAZEA]oltt. oGDCE 9]

Ho]7F 20cm? & W] AABC 9] Yo]S JLahH?

A

Q

@ 40cm? @ 60cm? ® 80cm?

@ 90cm? ® 120cm?



11, ohg 387 7o) Attelze] = gjzhae] @
Wepa o] ATkl Eat gy 4 217t
Zol&=? (H, AD = 3cm, BC:4cm)

_-3cm-~ _
A D
P 0 Q
B¥- —C
~4cm-
8 10
@ —cm ® —cm



12. o 2el4 A D,EF £ 7]
o] 7} o] 7ol g Tatolel,

cm

cm

cm




13. AABC 9 Ho]7}180cm?2 o] BD : DC=1: 2,AE : ED=2: 3
A wff, AAEC 9] Ylo]& F-5tofzt.

A

Q




14. o5 ™A H G 2ABC o #AFA

D 0.35 @ 0.5 ® 0.75




15. o3 139 HPAHYE ABCD o4 d E = B
AAGO = 6cm? ¢ T, DABCD 2] {o|Z Ht2 4 L5t A-&?

A D

@ 48 cm? @ 60cm? ® 72cm?



16. o= 199 3 oﬂwﬂ%oﬂ ABCD A & M, N 2 Zvz}
ZZolth. PQ = 8cm ¥ w], MN 9] Zo]|& F5loizt,

Q\
S
S



17.

o2 13 22 A& ABCD 941 AM: MB=DN:NC=1:3

ot}
WP = PQ = QN & 1, BC o] Zolg Tojoda
_-8cm ~ _
|
RV
B C

@D 9cm @ 12cm 3 15cm @ 18cm

3 21cm



18.

o5 ZL3olA AB//EF //DCOJAL AB: DC =2: 3

=9

D

o]
=

o,

EF

: CD



19. o3 I9oA H G 9 7 2 77 AABC 2} AGBC o] FAFAHY
, AG : GG : G’Dv?

A

@ 2:1:1 @ 3:2:1 ® 4:2:1

@ 5:92:1 B 6:2:1



20. oS 139 HPAHEF ABCD oA H E = BC 9 FH ol
AAGO =4cm? & W], DABCD 9] WolZ 5}oizt,

A D

oe,
=
Q



